Assignment - 2 - group - 3 Pouldem, prove that $(\cos 5\theta - i\sin 5\theta)^2 \left[\cos \theta + i\sin 7\theta\right]^{-3}$ $(\cos 4\theta - i\sin 4\theta)^9 (\cos \theta + i\sin \theta)^5 = i$ Dol" - dittis $\frac{(\cos 50 - i\sin 50)^2 (\cos 70 + i\sin 70)^{-3}}{(\cos 40 - i\sin 40)^9 (\cos 0 + i\sin 0)^5}$ $= \frac{\left[(15(-50))\right]^{2}}{\left[(1570]\right]^{4}} \left[(1570]\right]^{-3}} \begin{cases} 5 & (150) = (150) + (150) = (150) \\ (15(-0)) = (150) - (150) \\ (15(-0)) = (150) - (150) \\ (15(-0)) = (150) - (150) \\ (15(-0)) = (15(-0)) \\ (15(-0)) = (15(-0)) \\ (15(-0)) = (15(-0)) \\ (15(-0)) = (15(-0)) \\ (15(-0)) = (15$ $C(S(-100))C(S(-210)) \qquad \int_{0}^{S} [C(S0)]'' = C(Sn0)^{2}$ CIS (-360) CIS(50) $\frac{CIS(-100-210)}{CIS(-300+50)} \int_{0}^{0} CIS(-CISO_{2}) = \frac{CIS(0, + 0_{2})}{CIS(-300+50)}$ -----CIS (-310) CIS (-310) $CIS(-310+\overline{3}10)$ \int_{1}^{1} $\frac{CISO}{CIS(-0)}$ = cis (0). cis/0) -----= CIS(0+0) = CIS2A CIS(o)-----Coso ti Sin o 1+1.0 ------------= R. H. p. Hence proved.

EXPERIMENTAL IECHNIQUES & ERROR ANALYSIS

Assignment -2, Group - 4

Question $\xrightarrow{Prove that} \left(\frac{\cos \theta + i \sin \theta}{\sin \theta + i \cos \theta}\right)^{4} = \cos 8\theta + i \sin 8\theta$
Solution ->
Lets consider a complex number z of the form,
$Z = \cos \Theta + i \sin \Theta$
then $\frac{1}{z} = \frac{1}{\cos \theta + i \sin \theta}$
we have to normalize ± as follows by multiplying
and dividing (coso-isino) both in numercatore & denominator
$s_0 \perp = \frac{cos \Theta - isin\Theta}{(cos \Theta + isin\Theta)(cos \Theta - isinO)}$
$\frac{\cos \varphi - i \sin \varphi}{(\cos \varphi)^2 \varphi - i (i \sin \varphi)^2}$
$= \frac{\cos \theta - i \sin \theta}{\cos^2 \theta + \sin^2 \theta}$
今主 = coso-isiho
$\Rightarrow \frac{i}{z} = i(\cos \theta - i \sin \theta)$
$\frac{1}{2} = \sin \theta + i \cos \theta - 2$
$L \cdot H \cdot S = \begin{pmatrix} \cos \theta + i \sin \theta \\ \sin \theta + i \cos \theta \end{pmatrix}^{4}$
= (- z) [: substituting them eq (1) & (2)]
$=\left(\frac{z^2}{i}\right)^4$
$= \frac{Z}{i^4}$
= z ⁸ = (coso + isino) [: by De Moiver's Theorem]
= COS 80 + isin 80 = R.His Proved

Mathematical & Numerical rethods Group - 6 Lalit 19. Shulla, भौतिक अनूसंधान प्रयोगशाला Rahul yadar **Physical Research Laboratory** Assignment # 2 If p= cise and q= cise show that Question (i) $p-q - i \tan \theta - \phi$ p+q p-q <u>Ciso - Ciso</u> = Coso + isin Θ - (Coso + isin Φ) LH.S = Cise + Cise CO20 + i sin 0 + cosp+i sun \$ $= cold - cold + i(sin \Theta + sin \varphi)$ COSO + GOSO + i (SUNO + SUNO) $\frac{(080 - (080 + i(sin 0 - sin \phi))}{(000 + (080 + i(sin 0 + sin \phi))}$ {J) $(\cos\theta + \cos\phi)^2 + (\sin\theta + \sin\phi)^2$ I: Rationalized] solving tenominator from (i) $\frac{(\cos\theta + \cos\phi)^2}{(\cos\theta + \sin\phi)^2} = \cos^2\theta + \cos^2\phi + 2\cos\theta\cos\phi + \sin^2\theta}{\cos^2\theta + \sin^2\theta}$ + Sin 2/ +2 sin & sin \$ $= 2 \left[1 + \cos \theta \cos \phi + \sin \phi \right]$ = 2 51 + CO3(0-\$) $= 2 \times 2 \cos^2(0 - \phi)$ 12) Simplifying numerator from equ(1) <u>CO30-CO30+i(Sun0-sin0))×[CO30+CO30-i(Sin0+sin0)]</u> $\cos\theta - \cos\phi + i(\sin\phi - \sin\phi)(\cos\theta + \cos\phi) + \sin^2\theta - \sin^2\phi$ $-i(\cos\theta - \cos\phi)(\sin\theta + \sin\phi)$ [sing coso - sinp coso + cosp sing - sing cosp] - i [cososino + COSO sind - COSO sino - COSO sino 7 21 [SIND COS\$ - Sing COSO] **.**

$$= 2i [sun \Theta \cos \phi - \sin \phi \cos \Theta] \qquad (3)$$

Substituting denomination & numeration from (2) & (3) in equation (1), we get

$$\frac{p-q}{p+q} = \frac{2i[\sin\theta\cos\phi - \sin\phi\cos\theta]}{2\times 2\cos^2(\theta-\phi)}$$

$$= 2i \sin(0-\phi) \\ \frac{4}{4} \cos^{2}(0-\phi) \\ = 4i \sin(0-\phi) (\cos(0-\phi)) \\ \frac{4}{4} \cos^{2}(0-\phi) \\ \frac{1}{2} \cos^{2$$

Group - 8
arsignmud -2
(3) (i)
$$f = cis\theta = e^{i\theta} = cos\theta + isin\theta$$

 $f = \frac{1}{cis\theta} = e^{i\theta} = cos\theta + isin\theta$
 $so, sin\theta = \frac{e^{i\theta} - e^{-i\theta}}{2i}$
 $d = cis\phi = e^{i\phi} = cos\phi + isin\phi + So = f = e^{i\phi}$
 $sin\phi = \frac{e^{i\phi} - e^{i\phi}}{2i}$
 $right = \frac{e^{i\phi} - e^{i\phi}}{2i}$
 $right = \frac{e^{i\phi} - e^{i\phi}}{2i}$
 $right = \frac{e^{i\theta} - e^{i\phi} + e^{i\phi}}{2i}$
 $right = \frac{e^{i\theta} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} - e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi} + e^{i\phi}}{e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} - e^{i\phi} + e^{i\phi} + e^{i\phi} + e^{i\phi}}$
 $right = \frac{e^{i\phi} + e^{i\phi} + e^{i\phi}}{$

 $\frac{ASSIGNMENT-02}{\blacksquare}$ Given that a = cis(2x), b = cis(2B), c = cis(2Y)We have to prove that

$$\int \frac{ab}{c} + \int \frac{c}{ab} = 2\cos(\alpha + \beta - \gamma) - (\#)$$

Grame begins by moving from cis to exponential representation of complex equality/and"
given in the problem, and reverting
back to it is cosof ising form at the
end
We have

$$\alpha = Exp(i2x), b = Exp(i2\beta), c = Exp(i2Y)$$

From L.H.S. of (I)
 $From L.H.S. of (I)$

$$= \cos(\alpha + \beta - \gamma) + i \sin(\alpha + \beta - \gamma) + \cos(-\alpha - \beta + \gamma)$$

+ i sin (-\alpha - \beta + \gamma)
Exploiting even and odd prop. of cosine and
sine function respectively
= $2\cos(\alpha + \beta - \gamma) = 2\cos(-\alpha - \beta + \gamma)$

1 roved

ASSIGNMENT: 2
(B) TH a =
$$lis_{2x}$$
, b = lis_{2p} , c = lis_{2y} L
d = liz_{2p} B, prove that:

$$\sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \sqrt{\frac{ab}{cd}} + \sqrt{\frac{ad}{ab}} = 2los(at + p - 8 - 8)$$
Sol^m:

$$littis = \frac{lis(2x)(lis 2p)}{(lis x)!(lis 2s)} + \sqrt{\frac{lis (2y)(lis 2p)}{(lis x)!(lis p)}} = \frac{lis(2x)(lis 2p)}{(lis x)!(lis p)} = \frac{lis(2x + 2p) + (lis 2y)(lis 2p)}{(lis (at + p + y + 8))} = \frac{lis(2x + 2p) + (lis (2y + 28))}{lis((at + p + y + 8))} = \frac{lis(2x + 2p) + lis(2y + 28)}{lis((at + p + y + 8))} = \frac{lis(2x + 2p) + lis(2y + 28)}{lis((at + p + y + 8))} = \frac{lis(2x + 2p) + lis(2y + 28)}{lis((at + p + y + 8))} = \frac{lis(2x + 2p) + lis(2y + 28)}{lis((at + p - y - 8))} = \frac{lis(2x + 2p) + lis(2y - 28)}{lis((at + p - y - 8))} = \frac{lis(2x + 2p) + lis(2y - 28)}{lis((at + p - y - 8))} = \frac{lis(2x + 2p) + lis(2y - 28) + 1}{lis((at + p - y - 8))}$$

ļ

ŧ

$$= \frac{(Cis [2 (\phi + \beta - \gamma - \beta)] + 1)}{Uis (\phi + \beta - \gamma - \beta)}$$

$$= \frac{1}{2} \frac{Uis [2 (\phi + \beta - \gamma - \beta)] + 1}{2} \cdot \frac{1}{2} \frac{Uis (-\phi - \beta + \beta + \gamma)]}{Uis (\phi + \beta - \beta - \beta + \beta + \beta)]}$$

$$= \frac{1}{2} \frac{Uis (\phi + \beta - \beta - \beta)}{Uis (\phi + \beta - \beta - \beta + \beta)}$$

$$= \frac{1}{2} \frac{Uis (\phi + \beta - \beta - \beta)}{Uis (\phi + \beta - \beta - \beta)} + \frac{Uis (-\phi - \beta - \beta + \beta)]}{Uis (\phi + \beta - \beta - \beta + \beta)]}$$

$$= \frac{1}{2} \frac{Uis (\phi + \beta - \beta - \beta)}{Uis (\phi + \beta - \beta - \beta)} + \frac{Uis (-\phi - \beta - \beta)}{Uis (\phi + \beta - \beta - \beta)}$$

$$= \frac{1}{2} \frac{Uis (\phi + \beta - \beta - \beta)}{Uis (\phi + \beta - \beta - \beta)}$$

Hence Proved.

Assignment - 2

Dale: 10,08.2012 Group-9

$$\frac{Protoleur 5^{\circ}}{Simplify} \begin{bmatrix} Cos \alpha - Cos \beta + i(Sin \alpha - Sin \beta) \end{bmatrix}^{n} \\ + \begin{bmatrix} Cos \alpha - Cos \beta - i(Sin \alpha - Sin \beta) \end{bmatrix}^{n}$$

 $= \lim_{z \to 0^{-1}} \left\{ -\frac{2\cos \alpha + \beta}{2} \sin \alpha - \beta \right\} \quad \text{and}$ $= \lim_{z \to 0^{-1}} \left\{ -\frac{2\cos \alpha + \beta}{2} \sin \alpha - \beta \right\} \quad \text{for } A - Cos \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta \sin \alpha - \beta = -2\sin \alpha + \beta = -$

So, $Z = [r(\sigma SO + irSinO]^n + [r(\sigma SO - irSinO]^n]$ $= \mathcal{P}^{n} \left[\left(\cos \theta + i \sin \theta \right)^{n} + \left(\cos \theta - i \sin \theta \right)^{n} \right]$) De'Moivse's = rⁿ [losn0 + 2 Sipn0 + Cosn0 - 2 Sipn0] 2 pm Coino. $= 2 \left\{ 2 \sin\left(\frac{\alpha - \beta}{2}\right) \right\}^{n} \quad \cos\left\{ 2 \left(\frac{\beta}{2} + \frac{\alpha + \beta}{2}\right) \right\}$ = 2 Stu $= 2^{n+1} \operatorname{Sim}^{n} \left(\frac{\alpha - \beta}{2} \right) \left(\operatorname{os} \left(\frac{n \pi}{2} + \frac{n}{2} \left(\alpha + \beta \right) \right) \right)$ $= 2^{n+1} \operatorname{Sin}^{n} \left(\frac{\alpha - \beta}{2} \right) \left[\operatorname{Cos} \left(\frac{n \pi}{2} \right) \operatorname{Cos} \left(\frac{n \pi}{2} \right) \left(\alpha + \beta \right)^{2} - \operatorname{Sin} \left(\frac{n \pi}{2} \right) \operatorname{Sin} \left(\frac{\alpha + \beta}{2} \right)^{2} \right]$ foo odd n] $= \int -2^{n+1} \sin^{2n}\left(\frac{\alpha-\beta}{2}\right) \sin\left(\frac{2n}{2}\right) \sin\left(\frac{2n}{$ for even ny $\left\{ 2^{n+1} \operatorname{Sin}^{n} \left(\frac{\alpha - \beta}{2} \right) \operatorname{Cos} \left(\frac{\beta \sqrt{2}}{2} \right) \operatorname{Cos} \left\{ \frac{n}{2} \left(\alpha + \beta \right)^{2} \right\} \right\}$

Assignment - 2
G.-L
Vikas chand & alcostin dalk
(*) Browne that (1+ shift + i cond) in (1+ shift + i cond) in (1+ shift + i cond) in (1+ shift - i cond) in
= 2^{NH} can (
$$\frac{\pi}{2} - \frac{9}{2}$$
) can ($\frac{n\pi}{2} - \frac{ng}{2}$)
(*) (1+ shift + i cond) in + (1+ shift - i cond) in
all, 1+ shift = x can x
can 0 = x shift a.
: $2x^{2} = con^{2}0 + s(1+midt)^{2}$
= $2 + 2 \sin 0 = 2(1+midt)$
 $2z = \left[2(1+midt)\right]^{2}$
d. $din d = \frac{can 0}{1+midt} = \frac{can^{2}0/L - shift \frac{9}{L}}{con^{2}0/L + midt} \frac{1}{2} \frac{can^{2}0/L - shift \frac{9}{L}}{(cn^{2}/L + midt)^{2}} \frac{can^{2}0/L - shift \frac{9}{L}}{(cn^{2}/L + midt)^{2}} \frac{can^{2}0/L - shift \frac{9}{L}}{(cn^{2}/L + midt)^{2}} \frac{can^{2}h/L + shift \frac{9}{L}}{(cn^{2}/L + shift)^{2}} \frac{can^{2}h/L + shift \frac{9}{L}}{(cn^{2}/L + shift)^{2}} \frac{1 - tan 0}{L} \frac{1}{cm^{2}/L} \frac{1}{L} \frac{1}{D} \frac{1}{by} \frac{can 0}{L}$

$$(1) = (nK - NO/L) \int (1 - ten (a-b) = -ten a - ten b)$$

$$(2) = (nK + i kin a)^{n} + (2 = a + i kin a)^{n}$$

$$(3) = x^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} + (2 = a + i kin a)^{n} \int (can a + i kin a)^{n} \int (can$$

Assignment 2.
Group -10
Q. 7. Prove that
$$\left[\frac{1+\sin\alpha + i\cos\alpha}{1+\sin\alpha - i\cos\alpha}\right]^{N} = \cos\left(\frac{n\pi}{2} - n\alpha\right) + i\sin\left(\frac{n\pi}{2} - n\alpha\right)$$

So the hoid:
Let us consider

Let as consider,
1+ Sinx =
$$\lambda \cos \theta = -0$$

 $\cos \alpha = \lambda \sin \theta = -\overline{0}$
 $\cos \alpha = \lambda \sin \theta = -\overline{0}$
 $\oplus \cos \text{ squaring and adding $0 \neq 0$.
 $\Rightarrow h^2 = (1 + \sin \alpha)^2 + \cos^2 \alpha$.
 $= 1 + \sin^2 \alpha + 2 \sin \alpha + \cos^2 \alpha$.
 $= 1 + 1 + 2 \sin \alpha \quad (\sin \alpha, \sin^2 \alpha + \cos^2 \alpha = 1)$
 $= 2 + 2 \sin \alpha$.
 $= 2(1 + \sin^2 \alpha)$
 $h^2 = 2(1 + \cos(\overline{N}_2 - \alpha))$
 $h^2 = 2(1 + \cos(\overline{N}_2 - \alpha))$
 $h^2 = 2(2 \cos^2(\overline{N}_4 - \alpha/2))$
 $h = 2 \cos(\overline{N}_4 - \alpha/2)$
 $h = 2 \cos(\overline{N}_4 - \alpha/2)$$

$$\sin(\alpha_2 - \alpha) = \cos \theta$$

 $= \frac{\sin(\sqrt[4]{2}-\alpha)}{1+\cos(\sqrt[4]{2}-\alpha)}$

$$\Rightarrow \tan \theta = 2 \sin (\frac{\pi}{4} - \frac{\pi}{2}) \frac{1}{2} \cos (\frac{\pi}{4} - \frac{\pi}{2})$$

$$\sin 2\theta = 2 \sin (\frac{\pi}{4} - \frac{\pi}{2})$$

$$\theta = (\frac{\pi}{4} - \frac{\pi}{2})$$

$$\theta = (\frac{\pi}{4} - \frac{\pi}{2})$$

$$(\cos \theta + i \sin \theta)\pi^{n}$$

$$= \frac{1}{(\cos \theta - i \sin \theta)\pi^{n}}$$

$$= \frac{1}{(\cos (\pi - \pi)^{n})\pi^{n}}$$

(9-1)
Assignment-2
(1) Venkatech chinnis
(2) Durga prosad
(3) that one of
the valuer of
$$a^{m}y^{n} + \frac{1}{a^{m}y^{n}} = 2\cos(m\theta + n\phi)$$

(6) Given that $2\cos\theta = a + \frac{1}{a}$
 $=) a^{v} - 2a\cos\theta = a + \frac{1}{a}$
 $=) a^{v} - 2a\cos\theta + 1 = 0$
 $\Rightarrow a = (\cos\theta \pm i\sin\theta)$
 $=) y = \cos\phi \pm i\sin\phi$

Take L.H.S!

 $= \frac{1}{2^{m}y^{n} + \frac{1}{2^{m}y^{n}}} = (\cos m0 \pm i \sin m0) (\cos n\phi \pm i \sin n\phi) + (\cos m0 \pm i \sin m0) (\cos n\phi \pm i \sin n\phi) + (\cos m0 \pm i \sin m0) (\cos n\phi \pm i \sin n\phi)$

$$= \cos(m0+n\phi) + \cos(m0+n\phi)$$

 $a^m y^n + \frac{1}{a^m y^n} = 2\cos(m0 + n\phi) R \cdot H \cdot S$

Hence, it is proved.

Assignment 2

Group 5: Apurv & Sanjay

Question

8 (ii). If $2\cos\theta = x + 1/x$ and $2\cos\phi = y + 1/y$, Show that one of the values of

$$\frac{x^m}{y^n} + \frac{y^n}{x^m}$$
 is $2\cos(m\theta - n\phi)$

Solution

Given

$$2\cos\theta = x + \frac{1}{x}$$

Simplifying we get

$$x^2 - 2x\cos\theta + 1 = 0$$

Solving for x from the above quadratic equation we get,

$$x = \frac{2\cos\theta \pm \sqrt{4\cos^2\theta - 4}}{2}$$
$$= \cos\theta \pm i\sin\theta$$

Similarly from question if we solve for y we get,

$$y = \cos \phi \pm i \sin \phi$$

Now

$$\frac{x^m}{y^n} + \frac{y^n}{x^m} = x^m y^{-n} + x^{-m} y^n$$
$$= (\cos m\theta \pm i \sin m\theta) (\cos n\phi \mp i \sin n\phi) + (\cos m\theta \mp i \sin m\theta) (\cos n\phi \pm i \sin n\phi)$$

Let $z = (\cos m\theta \pm i \sin m\theta) (\cos n\phi \mp i \sin n\phi)$, then the above equation is in the form $z + \overline{z}$. We know that $z + \overline{z} = 2\text{Re}(z) \quad \forall z \in \mathbb{C}$. So

$$\frac{x^m}{y^n} + \frac{y^n}{x^m} = 2\operatorname{Re}\left(\cos m\theta \pm i\sin m\theta\right)\left(\cos n\phi \mp i\sin n\phi\right)$$
$$= 2\left(\cos m\theta \cos n\phi(\pm \times \mp \times i^2)\sin m\theta\sin n\phi\right)$$
$$= 2\left(\cos m\theta \cos n\phi + \sin m\theta\sin n\phi\right)$$
$$= 2\cos(m\theta - n\phi)$$

This is what we wanted to show.

